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MIN.PART I LISTENING COMPREHENSION [20 MIN.]In

Section A, B and C you will hear everything once only. Listen

carefully and then answer the questions that follow. Select the correct

response for each question.SECTION A STATEMENTIn this

section you will hear 8 statements. At the end of the statement you

will be given 10 seconds to answer each of the following 8 questions.

Now listen to the statements.1.Which of the following is true

according to the statement?A. Dr. Joness taxi arrived at the airport

on timeB. Dr. Jones arrived at the airport at 11:30.C. Dr. Joness plane

left at 11:00.D. Dr. Joness plane left at 10:30.正确答案是2.Which of

the following is true according to the statement?A. William was the

womans grandson.B. Mrs. Williams lawyer was the beneficiary.C.

Mrs. Williams was named in her lawyers will.D. The lawyer wrote the

will for Mrs. Williams.正确答案是3.Which of the following is true

according to the statement?A. The first apartment was more

comfortable.B. The new apartment was more comfortable.C. Neither

the first apartment nor the new one was comfortable.D. Both

apartments were very comfortable.正确答案是4.Which of the

following is true according to government statistics?A. Government

statistics show that it is not likely for older people to get married.B.

Older people like getting married.C. People who get married young

have a greater probability of getting a divorce.D. Divorces are more



common among older people who have got married.正确答案

是5.What does the speaker mean?A. We did not send a telegram

because we did not need to get in touch with them.B. We could not

send a telegram although we needed to get in touch with them.C. We

sent a telegram to get in touch with them.D. Since they needed to get

in touch with us, they sent a telegram.正确答案是6.What do we

know from this statement?A. The office is always open on

Saturday.B. The office is closed all day on Saturday this week.C. The

secretary opens the office at noon on Saturdays.D. This week the

secretary will be at the office until twelve oclock Saturday.正确答案

是7.What do we know from this statement?A. Despite her telling me

that she was not offended, I believe that she was.B. She was afraid of

offending me.C. She insisted on offending me.D. Although I was not

offended, I was afraid.正确答案是8.What does the speaker mean?A.

I would like some orange juice now.B. I like orange juice, but I do

not want any now.C. I never want orange juice again.D. I am never

tired of orange juice. 正确答案是 100Test 下载频道开通，各类考

试题目直接下载。详细请访问 www.100test.com 


